Datenblatt / Data Sheet MGB2-L1HEB-EC-U-S7-HA- -

EUCHNER

...-R-...

2154356 - 2 - 08.07.24 - JRK - KJ - OE Blatt/sheet 1/1

EUCHNER GmbH + Co. KG KohlhammerstraBe 16 70771 Leinfelden-Echterdingen

X2

£

£

kS

[%2]

S

2 .

[

£

a

E -

N | Ty
= Q Inklusive: = =
= = - 3 Einlegeschilder = =
(silber, ohne Aufschrift)
@ - Etikettenhalter
A (AY-C-A1-156732)
® ®, - Erdungsschraube M6x8 AY-SET-LNS-0001-120344 (1x)
m (AC-FE-GS-M6X8-170020) Blenden-Set fir Taster inklusive:
s C RO B B B RN Including: Cover-Set for push-buttons including:

o M -3 Insertion plates 2x weiss / white

< s ECIN M8 P-coded Sg\é?rﬁg}/étgrout|nscr|pt|on) 1x blau / blue

S B

o =) EC OUT M8 P-coded (AY-C-A1-156732) O bgeb | yelow

T [ — () (G— - Grounding screw M6x8 X grun / green

2 (AC-FE-GS-M6X8-170020) 1x rot / red

IS C ) C D

S

@ \ J

=

£ ECIN EC OUT

o M6

© inklusive Funktionserde Montagematerial

assembly material for functional earth included

IS

-% Betriebsanleitung beachten

£ (bei Abweichungen zwischen Datenblatt und e

S Betriebsanleitung gelten die Daten des Datenblattes) . - h&ll

£ Please observe the operating instructions o=

2 (in case of disagreement between data sheet and ) .

% operating instructions, the information of the i = a d g I ) u.|

§ data sheet are to be considered) % UE') § % § 5 - E - % % § 8

5 = =2 =2 <X < = = < =

§ MGB2-L1B-EC-U-S7-HA-R-171732 136776 | 137610 | 127040 | 157024 | 156718 - 163293 | 156682 -

2 MGB2-L1HEB-EC-U-S7-HA-R-171729 136776 | 137610 | 127040 | 157024 | 156718 | 137617 | 163293 | 156682 | 100465
5 MGB2-L1B-EC-U-S7-HA-L-171736 136776 | 137610 | 127040 | 156718 | 157024 163293 | 156682

3 MGB2-L1HEB-EC-U-S7-HA-L-171730 136776 | 137610 | 127040 | 156718 | 157024 | 156396 | 163293 | 156682 | 100465
5

8

2 Ubersicht der Kommunikationsdaten:

3 Overview of the communication data:

[72]

] Input

8 Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

_8_ 1st Byte BM_E G | - | BM_E_SYS | - - [BM_E_ML2] BM_E_ML1 [ BM_D_RUN
"5’ 2nd Byte Diagnose Byte (pluggable)

©

o

5 Ethernet” standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

E 1st Byte LM1_E_G LM1_E_ER | LM1_E_SM1 | LM1_E_SMO - LM1_1 UK LM1_1_SK [LM1_D_RUN
8 2nd Byte - - - - - LM1_I_OL LM1_|_OT LM1_]_ OD
% 3rd Byte Diagnose Byte (pluggable)

°

% Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

=y 1st Byte - | - | - | - - | sM2 1,83 ] sM21.82 | sm2_I_S1
» 2nd Byte Diagnose Byte (pluggable)

£

HY

& ___Ethernet! SAFE______ SO C N o L 3 U S SO
E ! I - I - ! - ! - I - ! - I LM1_FI_UK | LM1_FI_SK !
S e L o e Mt
2

S Output

§ Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

= | 1st Byte [BM_ACK G| - | - \ - [ - | - [ - [ - |
=

[}

% Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

£ | 1st Byte [LM1_ACK_G[LM1_ACK_ER] - \ - | - | - | - [ LM1 O _CL |
>

[

% Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

5 | 1st Byte | - | - [SM2_O_H3 B[SM2_O_H2 B|SM2_O_H1_B|SM2_O_H3| SM2_O_H2 [SM2_O_H1 |
o

c

T

2 ___Ethernet) SAFE___ __ S Sl oo Gl U S S|
- AN oo oo o o ol
> e e . e e e e e
2

i Ethemet Protokoall in Abhangigkeit des verwendeten MBM Busmodul / Ethemet protocol according to the used MBM Busmodul

Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de



	Blatt1
	Zeichenansicht3
	Zeichenansicht4


